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64 ⋅360° = 3 ⋅360°

32 = 3 ⋅45°
4 = 135

4 ° = 33
3
4 ° = 33,75°
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3
4 ° = 33
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60 ° = 33° 45'
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64 ⋅360° = 53 ⋅45°

8 = 2385°
8 = 298
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8 ° = 298,125°

298,125° = 298° + 1
8 ° = 298° + 1

8 ⋅60'= 298° + 7
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60 °

360° =
146 1

4 °
360° =

585
4

360 = 585
4 ⋅360 = 117

4 ⋅72 = 13
4 ⋅8 = 13
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13
32 ⋅64 = 13⋅2 = 26

286° 52 ' 30"
360° =

286°+ 52
60 °+ 30

3600 °
360° =

286°+ 13
15 °+ 1

120°
360° =

286°+ 104
120°+ 1

120 °
360°

=
286105

120 °
360° =

2867
8 °

360° =
2295

8
360 = 2295

8 ⋅360 = 51
8 ⋅8 = 51
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51
64 ⋅64 = 51


